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General Test / 2.51 Conductivity Measurement

Correction
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General Test / 9.21 Standard Solutions for Volumetric Analysis

Cerium (IV) Sulfate, 0.1 moVL

to make 1000 mL, and standardize the solution
as follows:

Page Line Correction Error
Preparation—Dissolve 40.43 g of cerium
sulfate (IV) tetrahydrate in 550 mL of diluted | Preparation—Dissolve 40.43 g of cerium
2901 left | 28-30 | sulfuric acid (1 in 11). After cooling, add water | sulfate (IV) tétrahydrate in water to make 1000

ml, and standardize the solution as follows:




